— B 5 =
E =Rk =
M & B ' 5 Pt ¥ E #H =(m) i &
= # BRI 118 BARA 2285
BiERAD 180
" %2 BT BARA 1138
BiERAD 185
" My &l tis BABA 520 (ERRE AHE )
BN 240
. KL+ 18 BARREN 1,028 ,
BiERAD 10
. e BARREN 100
[EFERR AN 8
. RRIE BRI 1,545
BIERAD 190
" WA LT TS BAERA 1,934 (B R E AT )
BiERAD 60
. R ——— BRI 724 ,
BiERAD 40
. SR L+ 18 BRI 540 ,
BIERAD 20
. KL L+ 15 BRI 2,330
BiERAD 30
" KELE2LT L | 235
[BiERR AN 5
. I BRI 240
[BiERR AN 5
" B/ INEILSEL 15 BARA 108
BiERAD 245
_ /AR 13,322
INET
BiERAD 1,218
=H 14,540




